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T 1. SH S A 30 i Agely 9-9 ¥ elkw W 1 IR e 15 § 20
wea] o 2 21 welt v o §1 vl v 03 (FF) S % 2 (3x30=90)
Que. :1. This question contains 30 very short answer type sub-questions.

Answer each question in maximum 15 to 20 words. All questions
are compulsory. Each question carries 03 (three) marks.

T : (1.1) Tt weg ¥ geawm wen WR H W SR A7
What is the difference between the mass and weight of
an object?

o

T 3wl % R ot wEE R

What is the audible frequency range for human ear? Is
it sani'e,fer children under the age of five years?

h T (1.2) HE HH ¥ AT e STy w1 § 7 R I8 Wi 56 A A A
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T : (1.3) SR g (AT EigeR) 3 Rpg afterean =6 Iw fmar s 27

Which phenomenon is used in optical fibre?

T (1.4) TS gRgrem % Ry aviwdh Yt i Soit & am fafaw :

Write the name of the series of spectral lines for atomic
hydrogen.

¥ : (1.5) Tr=ifea wiade @RI % gy anal @i fafaw)
NH;, NH, 3R HCOO~

Write the conjugated acids for the following Bronsted
bases :

NH;, NH, and HCOO™

W : (1.6) amﬁmaqﬁﬁﬁww%?

What is modern periodic law?

Y (1.7) U ST TwTo] % S WgE wew w27

What are the two main components of a typical virus?

W : (1.8) Sleged SO A 39 T GHIA 87 ' !
What do you mean by plasmolysis?

\ W (1.9) iR faga feaes gro wiamed T wn en?
Who had formulated the cell theory?

99 : (1.10) MS Word % Slapic # Ferile Hhad @R &7 - ’ /

How to add footnote in a MS Word document? / - ?’

o

T : (1.11) Siwett vy, oeid aw @ 8 e e

'How is assembly language different from achine
language? - '
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A (1.21).13"&% T R?

: (1.12) OMR 941 8rdT &7 T0HT ST Tl e S 27
What is OMR? Why is it used?

. (1.13) T T B Bl €1564 F W W, T GHAGR B 15% 1 IHH

BT 21 FHT B A e T4 I

By selling a chair for ¥1564, a shopkeeper suffers a loss
of 15%. Find the cost price of the chair.

: (1.14) Tt arrergl 1 mferet 25 3 Tgow 24%,aﬁm€amﬁﬁﬂql‘

For any data, Median is 25 and Mode is 24, then find
the Mean.

: (1.15) 7R & 2, x, x, 8 WAFA H &, ¥ x T HINC |

If the numbers 2, x, x, 8 are in proportion, then find x.

: (1.16) Tl < gspres I % T Tl

Write the names of any three communicable diseases.

: (1.17)31@;«.*%%3111%—@:%?

What are the parts of Ashtanga Yoga?

: (1.18) SR HRIFH H1 T L9 T 7

What is the main aim of immunization programme?

: (1.19) W T969 AR TEHR 1 Ie39 1 B

What is the purpose of Shanti Swarup Bhatnagar Award?

T ¢ (1.20) W SEEH W R TS (Lo 3o So o) T I H 77

What is the objective of Defence Research and

*~.  Development Organisation?

\
~ \

What is robotics?
' .3 . [P.T.O.
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: (1.30) SieHse W1 87

: (1.22) SRS Sared o fpaeht Iy fopen wman 27

What is used for producing Biodiesel?

: (1.23) < SR wa I B B 7

When do spring tides occur?

: (1.24) IREDA’ @1 faega &7 == 87

What is the full form of IREDA’?

: (1.25) WRE § yateRor T SAtufam e any e me

When was the Environmental Protection Act
implemented in India?

: (1.26) WCED 1 90 &7 %1 87

What is the full formm of WCED?

: (1.27) SEReHwe (AW F 3 = guE 7

What do you understand by Eutrophication?

: (1.28) @fm w6t foniya Hifvm)

Define mineral.

: (1.29) TERNS 98T F1 37

What is chemical weathering?

What is hydrosphere? ‘ P

4 o




o1 : 2. SU w20 AT IU-WR §1 T ¥e % I ¥g e wee €At 50 T/
5 3 6 dfwat i avht T afvert §1 TR IY 05 (4fR) I A B

’ (5x20=100)

Que. : 2. This question contains 20 short answer type sub-questions. ’

- Answer each question ideally in 50 words/5 to 6 lines. All

questions are compulsory. Each question carries 05 (five)
marks.

T : (2.1) VS <l FATTRON THIE
- Explain the concept of Ine;'tie{;

T ¢ (2.2) R SRR § S B S el it (FTERR) s TR
ELERETY

Describe the cartesian sign convention used in ray optics.

7 : (2.3) Hroe s gda W mﬁa:rmﬁi’n

Explain the octet rule of Kossel and Lewis.

W : (2.4) IFA (Aqua-regia) w1 g 87 36k e feieT
What is Aqua-regia? Write its uses.

T : (2.5) Ty 7y W ol Hifta
Write a note on Pituitary gland.

¥ : (2.6) ﬁﬁmaﬁmmﬁrml

- Write a note on cell cycle.

W 2 (2.7) A A 37
What is Cache Memory?

m:as,\é—maﬂtﬁ—w%mﬁg@mw%?

W‘ha{t is the main difference between E-Government and
E-Governance?
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T : (2.9) @ i awh ged 9L wEn W HR S 8, 10 3R 12, ¥ Pl
i &nitl

Find the largest three digit number, which will be
completely divisible by number 8, 10 and 12.

TH : (2.10) P SAThSt & wER AT st et HifR

Calculate the arithmetic mean of the following data :

wTHTEE 7egh )
Weekly wages R) 11-13|13-15|15-17|17-19|19-21|21-23 | 23-25
Number of Labour 3 4 5 6 | 5 4 3

W (2.11) TR e B % g e waw # fafew)

Write in brief, the main objectives of National Ayush
Mission.

e (2.12) Y Fafered W gt feoaoft foritem)
Write a short note on Panchakarma Chikitsa.

W : (2.13) FEW gfETT #1079 H gl W w8

What is Artificial Intelligence? How does a machine
acquires Artificial Intelligence?

T : (2.14) fgen g safer S (VSSC) %ﬂ@@@wé?

What are the main objectives of Vikram Sarabhai Space
Centre (VSSC)?

T : (2.15) S I @ R e sa%www%?

What is aquatic biomass? What are its advantages? = _

(2. 16)&1\-mq‘mm’fﬁﬁa?ﬁ%éaqzﬁ%? ' /

4’

How is electricity generated from geothermal energy?

/18 6 /




e : (2.17) gRa igat % ger 3w fake)

Write down about the main uses of green belts.

W ¢ (2.18) vatereti frem % FREBEHE () W el Sifw)

Comment on Environmental Education Programmes.

W : (2.19) et i A arer-srem vl W fewnft for)

Write a note on the three different layers of the Earth.

A ¢ (2.20) WEe W T feowft g

3+

R

0

/18

Write a note on granite.

3. 30 9§ 10 9d 907 Iu-3T § wee T ¥ S 3g ey weg €

200 Wi 1 et T sifard €| W T 11 (TIRg) IR Rl - (11%10=110)

. This question contains 10 long answer type sub-questions.

Answer each question ideally in 200 words. All questions are
compulsory. Each question carries 11 (eleven) marks.

: (3.1) ﬁ@m%mm.%wmaﬁmﬁﬁmﬁﬁm

Discuss the practical applications of heating effect of
electric current.

(3.2) WIS A MY M TUAA 87 HGH FHIR. A | 1 F1 TG Ll
27 guEnE)

What do you understand by saponification? Why does
soap not work in hard water? Explain.

(3.3) T & si 5 v o Bty w7 vk B

Describe the process of digestion of food in human.

(3 4) A5 I w1 Bl 8?7 T mmﬁmwl
What is a web page? List the features of a good website.

~N

7
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7% : (3.5)

T : (3.6)

¥ : (3.7)
H @ (3.8)
¥ : (3.9)
U=

A, B 3R C Tt weh 71 ) A =i hil W gl A, TR B 5
TE § 397, B, 5T A 2 9R T C, 4 W H 3 SR ¥g g1
2 = weedt £ wilres 3@ P

(31) I ¥ HE q a9 9

(9) A 4 FH o 95T 60

A, B and C try to hit a target. A can hit the target 3

times in 5 shots, B, 2 times in 5 shots and C, 3 times in
4 shots. Find the probability of the following events :

(a) Any two of them hit
(b) At least two of them hit

qe You TR il Teaqul WRed Hetfl weauehil AeHis
forem @ gl =

Describe in detail, the important health related welfare
schemes of Madhya Pradesh Government.

TR Fiaied IgEeN e & fwga e iy
Give a detailed account of the Indian Space Research
Organisation.

it Siifee o ST 87 THh] STTEvahdl Foll B 7
What is energy audit? Why is it needed?

waieRufia w3 3R (EIA) W b fee fiftaa
Write an essay on Environmental Impact Assessment
(EIA).

: (3.10) 39 =h! TR L T N IR F HRO W T foqd Rl

T
Define weathering and write a detailed note on the
causes of physical weathering.

f’
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